SHIF4B1BERE BEHEFREEFRERAORVUHE

SH4FE4B1BRE B ETEEEXREIIRAODORUHTE

g & B =i AR B | #HEHK M2 B A0 % AQ UN=l HEH

I\ ithig 6,323 6,645 12,968 5,430 2% |RAMEAN 2& |RABA| 26 |RABEA 2& |RABEA
AFNHbig 3,120 3,260 6,380 2,235 I\ ithig 6,147 99 6,494 82 12,641 181 5,350 139
B &bl 5,231 5,489 10,720 4,008 Kfihigk 3,065 36 3,239 13 6,304 49 2,222 47
=B 1,478 1,538 3,016 1,111 B S 5,154 61 5,395 76 10,549 137 4,002 123
K ilfi Hhig 1,923 1,972 3,895 1,348 = B ihig 1,463 10 1,501 16 2,964 26 1,114 25
B Fithis 771 790 1,561 557 Kt Hhig 1,897 12 1,933 33 3,830 45 1,344 34
15 ihis 808 846 1,654 704 B £ ih i 744 0 757 4 1,501 4 541 4
B EH2HE 19,654 20,540 40,194 15,393 B ithig 775 20 811 28 1,586 48 679 46
MEmLHE 19,245 238 20,130 252 39,375 490 15,252 418
&R (AT A kL) A 138 A4 A 124 A3 A 262 A7 A 34 A5

HEREXSBRAQFNAEAERZSD.

Bt =i =1 HE
N SHELA (2 4) 287 283 570 505 fH4F4A1BBE BLHTERERSERAORUVHEF(HEADH)

g B ZH | A0 B | HER

I\ ihig 6,048 6,412 12,460 5211
AKFxhig 3,029 3,226 6,255 2,175
B Sithig 5,093 5,319 10,412 3,879
= B b g 1,453 1,485 2,938 1,089
Klfi high 1,885 1,900 3,785 1,310
BA = Bhigk 744 753 1,497 537
1 5 ih g 755 783 1,538 633
MEmLHE 19,007 [ 19,878 38,885 | 14,834
¥E (R A L) A 134 A 121 A 255 A 29




